107}

1072

107

O

1.UD

1 ; ; ; ; ; ; : _Jl "l‘.'l"

“B5-8 =6 4 2 0 2 4 6 8 10

[ pull of goverp parameter

Tes o
1] Snstant _é‘béﬁ 9
O B e ith _ 1

1072

107

1074t

1.UD]

...'E....

“B58 =6 4 2 0 2 4 6 8 10

[ pull of @parameter |

107}

1072

1073

P08 6 4 2 0 2 4 6 8 10

[ pull of dxy parameter

107}

1072

N
i

OBGg=6 =4 2 0 2 4 6 8 10

[ pull of 6 parameter |

107}

1072

1073 e

10l -

FRve)

N
Ty T
»
.

[ pull of dz parameter

107}

1072

0BG =6 =4 2 0 2 4 6 8 10




	Contents
	Page 1


